v
=
'_
<
=
>
wl
=
o

SiBa
Slide Table Cylinder

TMX Series

COMMON SPECIFICATION (£ [E# %)

Bore(iI 2) 26 | @8 | @12 | @16 | @20 | @25
Fluid G 44) Clean Air(E%#55)
Action(ZEFR) Double Acting( zh)

Max. Press.(&& &R E 1) 0.85Mpa

Min. Press.(RIXERE ) 0.1Mpa

Amb. Temp(GFE KR KIRE)

0~+60°C(F L)

Piston Speed(iEZ=#/E)

100~500mm/s

S fute

Pipe Size(##%& O &)
Magnet (% 2F)

How to order (B! 5 R~ 77 %)

TMX 20 -50- A - M9B - S
l—, : II |

No. of Auto Switch

M3x0.59] M5x0.8p |

Built-in Magnet(BH4IF)

PT1/8

Bore Stroke Stroke Adjustment *Auto Switch
EL & 1732 1TAZIEEE HAMETF R HAMETT X H R

Nil(z=) [ 2 (1)
(1)
n (1)

Nil(z=) | None (FchiM 7 %)
(Front)(Ai i) M9B | Reed Switch( 51 s FF %) S
(Back)(f5 i) MONP | Contactless Switch( TS TFX) n
(Both)(# i) A93 | Reed Switch(H BB %)

Please refer to the table. Nil(%) | None ()
BESETRRE AS | Stopper Bolt (T2 & 12#¢
AT | Stopper Bolt (1T %1242
A | Stopper Bolt (T2 A 184&

6,8,12,16,20,25

BS | Shock Absorber (i F % # &) (Front) (BII%)  Auto Switch (Bt %) 3% KERTIES:
BT | Shock Absorber (it [ £& /4 2%) (Back)(J5 if) FiB S 1m (R )
B | Shock Absorber (G [ & # #8) (Both) (7 i) L=3m

Z-5m

Theoretical force (2t H 713%)

Bore Piston Rod | Action| Piston Area Air Pressure(z= 5 JE 77)(kgflcm?)
L) (mm) (FEFER)(mm)  (FH1E) | (REER) 1 2 3 4 5 6 7
- 3 [ Pushit) | 05 — 10 15 2.0 25 3.0 35
Pull(fi) 0.4 — 08 1.2 16 2.0 24 2.8
- s Push(¥) 1.0 1.0 2.0 3.0 40 5.0 6.0 7.0
Pull(fi) 0.7 0.7 14 2.1 2.8 35 4.2 4.9
o 5 Push (i) 22 2.2 44 6.6 8.8 11 13.2 15.4
Pull(fi) 17 17 34 5.1 6.8 8.5 10.2 11.9
216 5 Push(i) 4.0 4.0 8.0 12 16 20 24 28
Pull(fi) 3.0 3.0 6.0 9.0 12 15 18 21
— 10 Push(¥) 6.2 6.2 12.4 18.6 248 31 37.2 434
Pull(f) 47 47 9.4 14.1 18.8 235 28.2 32.9
025 12 Push (i) 9.8 9.8 19.6 29.4 39.2 49 58.5 68.6
Pull(fi) 75 75 15 225 30 375 45 52.5

Note :The above data are forreference only. When come to actual practice, frictional force and the mechanical efficiency have to be
taken into considerations. (About 70%~80%)

F: A ERBRKIE, ERRAE, FEREEENDSTMEEREFMLOTE. (HH70%~80%)
() Stroke (HR#:1772)
(mm) (mm)
6 10, 20, 30, 40, 50
a8 10, 20, 30, 40. 50, 75
@12 10, 20, 30. 40, 50, 75, 100
716 10, 20, 30, 40. 50, 75, 100, 125
@20 10, 20, 30. 40, 50, 75, 100, 125, 150
25 10, 20, 30, 40, 50, 75, 100, 125, 150

Please contract us on any small problem and details.

EIFANE R ERE, FEESAARKE.




SmiEa
Slide Table Cylinder

TMX Series

(%]
=
=
<<
=
=)
L
=
a

Load Calculation (fa {7 it &)

m Vertical Moment Of Force (2 i 714B) Motionless allowable moment of force (B#75 J1%E)  v-m)
Fp
Bore Stroke (4T#£)(mm)
£p_ Mp X 1000 @E(MM) 40 [ 20 [ 30 | 40 | 50 | 75 | 100 | 125 | 150
(X1+Xz2) o6 07 |10 |12 |12 | 12| - | = | = | =
X1 X2
x| Xz 28 20 | 20 | 28 | 36 | 42 |42 | - | = | -

@12 4.2 42 | 42 | 58 7.0 [10.0 | 10 —
216 11.3 | 11.3 | 11.3 | 11.3 | 15.9 | 25.0 | 34.1 | 34.1 -

m Leaning Sway Moment Of Force (f&%% 71%E)

FY
} @20 194 | 194 | 194 | 194 | 27.2| 35 |50.5 | 50.5 | 50.5
o 0 o o @25 30.6 | 30.6 | 30.6 | 30.6 | 42.8 | 55.1 | 67.3 | 67.3 | 67.3
QO N@) O‘o F = My x 1000
—— (X1+X2) Note: 1.Please do not exceed load limit. It will effect on the precision of
the slide rail if it exceeds the limit.
\ X1 | X 2.Avoid hitting with great force.
— 3.Inertial load must be with in 1/10 or the allowable motionless load.
=L q E e 72 ~§2“ . “;1‘
m Roll Moment Force ([El% }1%8) ’EE";Egﬁ;g%ggm’ﬁ*ﬁﬁmﬁ‘? I8 B A
Fr 3R RATTNR TR RAI1/10.
By Fr= Mr x 1000
00s X
X

Maximum Allowable Load Weight (R X L F R H E =)

‘ Bore Maximum allowable load weight
(FL12)(mm) (RARRIFHEERE)(kg)
Z % @6 0.6
© ©
[F 31 @O@Oé oo w a8 1
EO'@O@ L T a12 2
(o) 9 09
Z w 216 4
N @20 6
‘ ' @25 9

Mounting Type (R £ 5 R)

Top Mounting Type(Ti &R % %) Bass Mounting(JE 38 & %) End Vertical Mounting(J/5 i & B E £ 2 25)

HTETE 1.127




SaiBa
Slide Table Cylinder

TMX Series

PNEUMATICS

Slide Base Deflection((B & M RIEE)

m Slide base displacement due to pitch moment load ( /K E A B S RIZE )
Slide base displacement when loads are applied to the section marked with
the arrow at the full stroke.

CRaMmEN, ARNESRRAEMNXICSAMEENRIER)

TMX6 TMX8 TMX12
[ = E
40 | 100 L 120} i 20 R
= TMX6-30 = e 30 B [ e 270
Z 30 ThXo-20 2 80 (e RN
O . . fhaxas " 117
# g TMX6-40 e / s [/
g ™ ‘s 50 ﬁ 40 V44 g //
5 10 A 5 e 5 40 = [TMX12:100
®© © 20 ©
o o —1 o ]
A A = 4 20 =
0 0.01 0.02 0.03 0.04 0 0.01 0.02 0.03 0.04 0.05 0 0.02 0.04 0.06 0.08 0.10
Slide Base Displacement Amount Slide Base Displacement Amount Slide Base Displacement Amount
(BB RIBE) (mm) (BB IRIEE) (mm) (B B RIBE) (mm)
B Slide base displacement due to yaw moment load ( fll[Ef1ZHIB B RIZE ) .
Slide base displacement when loads are applied to the section marked with the arrow : )
at the full stroke. |
CEEMUN, AHENESERSES L ESLMEENRES)
AEI—_b_I
TMX6 TMX8 TMX12
8 e 100 HH o0 [MERECTR T E]
= TNX6-20 = TMX8-20 = m%fg
Z 30 e z 80 TVXE-T0 TMX8-30 z 80 T &
= " o JiRgs W oo /AT
g 20 TMX6-50 g /1/] Tuxszs g 1/ TMX12-100
& 7 g 9/ g 0/
©T 0 ° /) © '/
© © 20 © 20
o o / o Y/
| | |
0 0.01  0.02 0.03 0.04 0 0.01 0.02 0.03 0.04 0.05 0 0.01 0.02 0.03 0.04 0.05
Slide Base Displacement Amount Slide Base Displacement Amount Slide Base Displacement Amount
(BARIZE)(mm) (BARZBEE) (mm) (BB RIBE)(mm)
B Slide base displacement due to roll moment load. ( BB HREFBBERIZE ) A rr Fr
Slide base displacement of section A when loads are applied to the section f with M @

the slide table retracted. x
(B8R TE SEL Bl BT = 4 M RSB 75 B Sk I S AL BT = 4 B IR IR ) felel L{::::ﬂ

TMX6 X =24 mm TMX8 X =50 mm TMX12 X =65mm
T 80 | | [ ]
120 1
—— 1 TMX12-100
=z - - = TMX8-75 — TMX12-75
Z 0 TMX6-50 TMX6 40T xs-‘sc Z 60 / mx‘e-so— Z 100 i i
] / / TMX6-20 ] TMX8-407— 18 80 TMK12:5
M 0 } W 40 TMX8-30—] *H”H 60 TMX12-40
i / TMX6-10 = TMX8-10 | ) / TMX12-10
RS A ® / TMX8-20] & 4 D20
5 o 5 20 5 / TMX12-30
®© /y ®© T 5o |
o o o
a a a
0 0.005 0.01 0.015 0.02 0 0.005 0.01 0.015 0.02 0 0.01 0.02 0.03 0.04 0.05
Slide Base Displacement Amount Slide Base Displacement Amount Slide Base Displacement Amount
(BARREE)(mm) (BRREE)(mm) (BARMmZEE)(mm)

1.128 §pTECITE




SmiEa
Slide Table Cylinder

TMX Series

(%]
=
=
<<
=
=)
L
=
a

Slide Base Deflection(i§ & B 1R IZ &)

m Slide base displacement due to pitch moment load ( /K E 51 & (08 B RIZE )
Slide base displacement when loads are applied to the section marked with
the arrow at the full stroke.

CREMmEN, AENEERBAESXICSAMEENRIESR)

TMX16 TMX20 TMX25
TMX16-10 8 —
250 ——=TMX16-20 1 1 l 400 /¥M§§8;8 500 m;gg;g\ TMX25-40
TMX16-30 | TMX16-40. . TMX20-30_ - TTMX25-50—
= i FThix1p-50 = o - TMX25-30, ) ) Mgl
z 00 1 < TMX20-40 = 400 TMX25-75
< 1117 Jtmxaers] | | W 300 1] /-}Miig 30 Y A = 77 4 TMX25-100
o, [ TMX16-10 po y > B 300
% ] // / # 200 g I/ yAVA
y ( | A | _LTMx25-125
& 00 / TMX16.12 g g 200 74 1
E’ 50 ® 100 % /ﬂm%gjégf E 100 7 TMX25-150
o - S == o —
| Ca ‘ ‘ ‘ -
0 0.04 0.08 0.12 0.16 0.18 0 0.04 0.08 0.12 0 0.02 0.04 0.06 0.08
Slide Base Displacement Amount Slide Basepisplacemsent Amount Slide Base Displacement Amount
(BRREE) (mm) (BERIBE)(mm) (BARREE)(mm)
B Slide base displacement due to yaw moment load ( fll[Ef1ZHB B RIZEE ) :
Slide base displacement when loads are applied to the section marked with the arrow : )
at the full stroke. |
CBEEMUN, AHENESRBSESTXESLMEENRESRS)
AEI—_TLI
TMX16 TMX20 TMX25
| 400 1 ! 500 [ 11— e
250 TMX16-30—| TMX20-30] TMX20-40 MEPRTED= *W?ggi‘égw
- TMX16-20 —] — TMX20-20 ) TMX30-50 — [ xz‘s»z‘ow \ - TMX25-75
Z 200 [MiXie-fotSiy Ny —mwxse100— Z 30 [TMX20-10 TMX20-75 Z 400 rvxasao /17 T
= TMX16-50 —] = // TMX20-100 = TMX25-100{]
W5 / TMX16-40 i} | B 300 L rhx5-1251]
L] / 1 500 / ‘ il 1/ |1
= 7 #=R / [TNIX20-125 = L TMX25-150
& 100 & / TMX20-150 & 200 V/,
T 5 TMX16-129 T 100 B 100 -
o —T o o
- — | — a ‘
0 0.01 0.02 0.03 0.04 0.05 0 0.02 0.04 0.06 0 0.01 002 0.03 0.04 0.05 0.06
Slide Base Displacement Amount Slide Base Displacement Amount Slide Base Displacement Amount
(BAmEE) (BARZERE) (BAREE)
B Slide base displacement due to roll moment load. ( BB HAEBRBERIZE ) A Fr Fr
Slide base displacement of section A when loads are applied to the section f with M @

the slide table retracted. X
(8RR S AL L B 22 4 M B 57 S0 S AL FF A B0 RIR B) felel Lq:l]

TMX16 X =89 mm TMX20 X =122 mm TMX25 X =154 mm
400 400
300
= = =z TMX25-150
,Z~< 250 i 300 § 300 TMX25-125
L] TMX16-10 L] TMX20-100 | | g TMX25-100
" : m
# 150 | #® 200 T #2200 TMX25-75
® A ™™X187 i TMX20-75——} & TMX25-50
= 100 TMX16:50 = {- TMX20-50 =
° 7 T 100 ol T 100 TMX25-40
TMX16-10 £ TMX20-10 v
8 50 é///TMX16-20 8 L TMX20-20 | | 8 0 ¥ §§228
| — TMX16-30 a %’/ TMX20-30 4 ‘% TMX25-10
TMX16-40 TMX20-40 [
0 0.01 0.02 0.03 0.04 0.05 0 0.01 0.02 0.03 0.04 0 0.01 0.02 0.03 0.04 0.05
Slide Base Displacement Amount Slide Base Displacement Amount Slide Base Displacement Amount
(BERIZE) (BERIZE) (BARIZE)

§TEITE 1.129




SaiBa
Slide Table Cylinder

TMX Series

PNEUMATICS

Dimensions(mm)(5MEZ R~ B (X))

TMX6

2-M2.5x0.45Px3dp 5, 2-M3x0.5P 10,5, R K18 (RIRIKITIRIFEIZRKE
‘ ‘ ‘ HHSIL ’ ‘

«» 5 T e
2 PSS D —

\J“
17N
&)
[l
|
L
5

6.5 _
BA18 (FIRBITIDAERIE K , E2 - M3x0.5Px4dp
18.5 ™
E 12.5
2-M3x0.5P6dp I
_ ,, o 55,3
‘ 2 — 4 r 7 4-M2.5x0.45P3dp
° ) - \ |

= | [ e

A Il i L Il I S - [

fH
!
‘

_

+
P gL 8 T8
el
208 G 2 S
- 23:8%x3dp e i
o
| F
20 NXF M - M3x0.5P5dp
5 B |
©
3 1
. |
—
c
D
NNXG MM-—M4x0.7Px8dp
6.5, 105 G A -1 5
] .
| ) 1
Il M v
In Ll | § &
© ®¢ ©¢ (===
i T
© ] 1 1 {
OL ,q{, ,q}j» I
|
105 H g
: % L—A' Section A-A’
238%x3dp_\ 4
ﬁﬁmﬁ’; B | C|D|E|E|F|N|GI|NN|H|M/| MMV Option(FT &AL #4)
10 42 | 415 48 | 225| 2 | 20 | 1 | 25| 1 | 20 | 4 | 2 —
20 52 | 515| 58 | 325| 2 | 30 | 1 | 35 | 1 | 20 | 4 | 2 Stopper Bolt (T2 iR # 1)
30 62 | 615| 68 | 425| 2 | 20 | 2 | 20| 2 | 20| 6 | 3
40 84 | 835| 90 | 525| 2 | 28 | 2 | 30 | 2 | 30| 6 | 3 M5x0.8p
50 100 | 99.5| 106 | 625| 2 | 38 | 2 | 24 | 3 | 48 | 6 | 4 )

1.130 TECITE




SmiEa
Slide Table Cylinder

TMX Series

(%]
=
=
<<
=
=)
L
=
a

Dimensions(mm)(4MER T EI(ZK))

TMX8
15
2 -M3x0.5P4dp 2 L7 ‘
' 55 ziguﬁ"j‘i_ngp 85. .6 B K27 (REBEAEKE
< ‘ v R X199 (FRIKITRFERRKE
i é\ 4 & l
o b ~
INNEE D] PR+
38| |7 7
F:K20.5 (FiifEm B A EKE) | E 14.6 l 3.8 E2-M3x0.5P4dp
B RO. 5 (B o 17 72 A B2 IR A2 K [B) 1 146
23.5 6.5 , 35

2-M4x0.7P6dp

| 4-M3x0.5P4dp
N ‘

&
A
b
-
15

] ¥ b $
: l ‘
4 - — —— — —d— — — N
3 % ) @T@ # IRV ey
. . 2 . .|
| 3 & & R
4 @) 2383 g I o
faed
12 12 F @
4 N M-M3x0.5P5dp
© 6 B
o
N
N
c
D
NNxG
75 M5 G MM-M4x0.7P8dp  |=—A 125_6
\ Uy

T
S
@3.2

| |er

— A Section A-A'

\@3:8%x3dp

2318%°x3dp

- RS gl c D|E B |E2| F|N|G|NN|H|M MM Option(A £ AT 1)
10 49 | 48.5| 56 |23.5 - 2 25 1 28 1 20 4 2
20 54 1535 61 |335| — > 25 1 30 1 30 | 2 2 Stopper Bolt ({732 13 2 42 4%) Shock Absorber (5 £ 48 4 88)
30 65 | 64.5| 72 |43.5 - 2 40 1 20 2 20 4 3
40 83 |82.5| 90 |53.5| — 2 50 1 28 2 28 4 3
50 101 |100.5] 108 | 63.5| 82.5 4 38 2 23 3 50 6 4
75 151 |150.5| 158 | 88.5(132.5| 4 50 2 28 4 56 6 5 A-M5x0.8p B-0806

HTETE 1.131




SaiBa
Slide Table Cylinder

TMX Series

PNEUMATICS

Dimensions(mm)(#MER T EI(ZK))

TMX12
19
2-M4x0.7P5dp 2 195
' 6.75 ;&"Z‘%gp 1. .8 B A26 (EEBENEKE
v BX19(FERHBITRAZRERKE
ol s / |
2 2
° | & ® [
[ R ©
: i T A 1
i - — @@ﬁ@(é‘{ 1 [ —
5 | |85 8.5
B A15.5 (Bt in B M B K ) | E 18.5 | 5 E2-M4x0.7P5dp
B4 5 BRI RAEREKE = o5
31.5 9.5
2-M5x0.8P8dp
N 5 7 ""@:x:x 4-M4x0.7P6dp
.. i B HSD K
O T
% P P
3 +--p—— =P —+-—1 | g8 118D
H HEE -3 H 171
1 e r INP)
{ © @ @433%%3.5dp g a0
15.5 16 F S
3 NxF M- M4x0.7P5dp
) 8 B
o
0
&
o
D
NNxG
10, 15 G MM-M5X0.8P10dp A 18.5_ .8
\ w ™| v
\ T <| ©
D:_ v Win% SIS}
Hoo—6o @0 051+ | o
Ix " S DT
| H-—-—-—- —H=] _
‘_r 15 H E A Section A-A'
\@418%x3.5dp g
B
)

P m1n§? B|C|D|E |Ei|E|F|N|G|INN|H|M| uv| [Cldienl@prdigts]
10 71 | 70 | 80 | 265 — 2 35 1 40 1 40 4 2
20 71 70 | 80 | 365 | — 2 35 1 40 1 40 4 2
Stopper Bolt ({Ti2 1§ # i212) Shock Absorber (5 [ £ 41 3§)
30 71 70 | 80 | 465 | — 2 35 1 40 1 40 4 2
40 83 | 82 | 92 | 565 — 2 50 1 25 2 25 4 3
50 103 | 102 | 112 | 66.5| — 2 35 | 2 36 2 36 6 3
75 149 | 148 | 158 | 91.5|1255| 4 55 | 2 36 3 72 6 4
100 203 | 202 | 212 | 116.5/179.5| 4 65 | 2 38 | 4 | 76 6 5 A-M5x0.8p B-0806

1.132 pTECITE




SmiEa
Slide Table Cylinder

TMX Series

(%]
=
=
<<
=
=)
L
=
a

Dimensions(mm)(4MER T EI(ZK))

TMX16
24
2-M5x0.8Px5.5dp 3——% ‘ 2-M5x0.8P e
8.5 = 11 10 B A29 (FRMEHFKE
BHSA BKR22 (R R IT AR K )
© —1 [ PR
o ) Q/ $ ﬁt
- D) )
f = T H \’_‘ o)
[ J:' V@ 4‘@@\'*‘ 3 —
55| 10 10
2 K16 (Fi ik in b 22 K ) E 21 | 5.5 E2-M5x0.8Px5.5dp
K5 R 917 12 A IR K ) e s
37.5 12.6
2-M6x1.0Px10dp
- 6 1 T d R A 4-M5x0.8Px7dp
_ i LETm
i)  V——— (D) 4
? T- - L‘**:@***#fff— 188 f@/\}@*
! . o ! ]
1 % IS *
— @ o587 an
o]
20 21 F S
10 NxF M-M5x0.8Px5.5dp
ol 410 B
S
©
3
c
D
NNxG
12 19 G MM —-M6x1.0Px12dp A 23 _ 10
\ 7 o © g
D:_ \\ +Hlat | 88
Hos—ev e 051 ==l
[ —° S O] !
| H-—-—-—- — =] C
Q)
J 19 H 3 A Section A-A'
@51 x4dp D)
T . 3,
S Option(AI IEFL 1)
Stopper Bolt (T2 A # 1#42)
> K=
A B| C|D| E|Ei|E| F|N|G|NN|H/| M| MM
10 76 | 75 | 87 | 29 | — | 2 |3 | 1 [ 4| 1 | 4| 4| 2 AMI0x1.0p
20 76 | 75 | 87 | 39| — | 2 |3 | 1 |4 ] 1| 4] 4] 2
30 76 | 75 | 87 | a9 | — | 2 |3 | 1 | 4| 1| 4] 4] 2
Shock Absorber (G /& £ 4 28)
40 86 | 85 | 97 | 59 | — | 2 |40 | 1 | 50| 1 | 550 ]| 4] 2
50 101 | 100 | 112 | 69 | — | 2 |30 | 2 | 30| 2 | 3| 6 | 3
75 151 | 150 | 162 | 94 | 125 | 4 |55 | 2 | 35| 3 | 70| 6 | 4
100 199 | 198 | 210 | 119|173 | 4 |65 | 2 | 35| 4 | 70| 6 | 5
125 | 240 | 248 | 260 | 144 [ 223 4 |70 | 2 [ 35| 6 | 70| 6 | 7 B-1008

#TE[ETE 1.133




sHiea
1B A
(%] - -
o
2 Slide Table Cylinder
<
=
2 -
z TMX Series
Dimensions(mm)(4M
TMX20
2715_,
3 13 2-PT 1/8"
2-M6x1.0Px6.5d| e e e _ .
e 95 iE R 10 12, BASS(BRBENBKE
‘ HAR36 (FRIGITRARBERKE
© — é Y
< M. 1 I =
=5 0 & 4‘1
- T = NP FNIP L |
o —1 fig T T
S f TN
6.5 | [12] | 65 | 12
BA44 G R ERBKE) E 25 E2- M6x1.0Px6.5dp
BA17 GIE BT AR ERD c, 25
46.5 18 6
‘ 2-M6x1.0P13dp
o - 0 6 o ﬂr"g—f = | )7 1 6-Mmsx0.8P8dp
I O TG LAy
L | ‘ =N
|
»@/@ ] @
ISR T il
7 L !
@© 41 P — - — - — JE— ©ol © -
0 /{?@7 = TjEH: @ | ] |~ T@
} e > > ¥ - 3
N L
P | o537xadp S Q\
w
25 ‘ 27 F S
50 NxF M-M5x0.8P10dp
w| __13 B
o
©
b I
< i |
c
D
NNxG
155 215|_ G MM -M6x1.0P12dp 28 11
/ -
I / (WS o
H vl o =
E,’ / j@¢ 8| & s
ERCE SRR R S =
) S— 1 B
— i ToF
K- — T+
f 215 H g |—
- % Section A-A’
@53 x5dp i:
® Option (] 3£ AL )
Stopper Bolt ({Ti2 2 #242)
,=70 Wil B (0} D E E1 E2 F N F1 G NN H M | MM
1T m
10 83 |815| 97 | 31 | — | 2 | 50 | 1 | 40 | 45 | 1 35 | 4 2
20 83 [815| 97 | 41 | — | 2 | 50 | 1 | 40 | 45 | 1 35 | 4 2 AMI4xt 5p
30 83 [815] 97 | 51 | — | 2 |50 | 1 | 40 | 45 | 1 35 | 4 2
40 93 (915107 | 61 | — | 2 [ 60 | 1 |50 | 55 | 1 35 | 4 2 P ——
50 108 [106.5| 122 | 71 | — 2 |35 | 2 [ 3 [3 | 2 | 35| 6 3 ock Absorber (i & 4 7 %)
75 147 |1455| 161 | 96 | — [ 2 |60 | 2 |60 |35 | 3 [ 70| 6 | 4
100 200 [1985] 214 | 121|168 | 4 | 70 | 2 |70 [ 35 | 4 | 70| & 5
125 254 |2525] 268 | 146|223 | 4 | 70 | 3 | 70 | 38 | 5 |755]| 8 6
150 306 |304.5| 320 | 171|275 | 4 | 80 | 3 | 80 | 44 | 6 |875| 8 | 7 B-1412
1.134 *¢~1EmTE




Dimensions(mm)(7Miz

TMX25

2-M8x1.25Px8.5dp

]
I

10

~ El(ZEXK))

30
16 2-PT 1/8"
2|0 b S 12

SmiEa
Slide Table Cylinder

TMX Series

A58 ((FIRIGE MK E)

RA34 (FRHITIRFRBIRKE

16

L4

175—‘!
_ji ’é *************** @——ﬁ

-

S
#"%’\LFL [

_

5= N

] c»#
22

E2-M8x1.25Px8.5dp

& K38 (i it i 4 ) 25 K B) | E 31
B AN (B i 08 1 2 A2 R 12 K ) . 51
545 2- M8x1.25Px15dp CZa——
9 777D’_“r7—‘;:‘L77’TT ¢ )7 |1 6-mex1.0Px10dp
: J 1m0
= = 77‘ — ——t
ol ‘ © @
‘
f«i» ©
| | “"[
| [ b ey | Lol
) 4 g . %[
% +0.03 & & e K
P | @60 x6dp e
©
31 30 F S
2 NE M-M6x1.0Px13dp
w| __15 B
o
o]
9 b
c
D
NNxG
175 235 G MM-M8x1.25Px16dp 34 15
/ —*
/ (WS ) o of o
y o o &
= S (Ol | g8
T 0303080 v 1 ===
E’, 7 | 2 o
NJ I H L]
S —-—- e
| g |
el '
233 H*o — W A Section A-A'
\ @6+ x6dp %
© . 3,
S Option(AI I AL 1)
Stopper Bolt (T2 A% 12 42)
K=
=100 B © D E E1 E2 F N F1 G NN [ H M MM
1T m
10 92 |905 | 108 | 3 | — | 2 | 50 | 1 | 40 | 45 | 1 | 45 | 4 | 2
20 92 |905 | 108| 45 | — | 2 |50 | 1 |40 |45 | 1 | a5 | a4 | 2 A-M14x1.5p
30 92 |905 | 108| 55 | — | 2 |50 | 1 |40 |45 | 1 | a5 | a4 | 2
40 102 [1005| 118 | 65 | — | 2 | 60 | 1 | 50 | 55 | 1 | 55 | 4 | 2
Shock Absorber (3 [ £& 4 28)
50 115 [1135| 131 | 75 | — | 2 | 35 | 2 | 35 | 35 | 2 |35 | 6 | 3
75 156 |1545| 172 | 100 | — | 2 | 60 | 2 | 60 | 35 | 3 | 70 | 6 | 4
100 197 [1955| 213 | 125 | 162 | 4 | 70 | 2 |70 |35 | 4 |70 | 6 | 5
125 255 |2535| 271 | 150 | 218 | 4 | 75 | 3 | 75 |38 | 5 |76 | 8 | 6
150 295 |203.5] 311 | 175 | 258 | 4 | 80 | 3 | 80 | 40 | 6 | 80 | 8 | 7 B-1412

§TETE 1.135

(%]
=
=
<<
=
=)
L
=
a




Saiga
Slide Table Cylinder

TMX Series

PNEUMATICS

Stroke Adjustment And With Shock Absorber (7] if 1T 12 & i JE £& 41 88)

Mg 10ST| 20ST |30ST | 40ST | 50ST|75ST [100ST|
TMX8 7 8 208 | 145 | 38 | 23.5 | 20.1 | 25.1 | 24.1 - - — -
TMX12 9.5 8 155 | 15 45 | 315 5 15 25 23 13 26 -
TMX16 11 10 16 18 55 | 375 8 18 28 28 23 29 29
TMX20 13 12 44 | 245 | 70 | 475 | 38 48 58 58 53 39 59
TMX25 16 15 38 | 245 | 80 | 545 | 36 46 56 56 53 37 58

o O o O | e
°oQO o © )
o O o O |l

o= A B © D E E G Stroke adjustment

A (AR 1THESE B
TMX6 6 5 11.5 2.5 22.5 19 21.3 0~18 mm
TMX8 7 8 20.8 | 145 38 23.5 19 0~15 mm

TMX12 9.5 8 |155 | 15 45 | 315 | 19 0~15 mm
TMX16 1" 10 16 18 55 | 375 | 22 0~20 mm
TMX20 13 12 44 | 245 | 70 | 475 | 37 0~30 mm
TMX25 16 15 38 | 245 | 80 | 545 | 34 0~30 mm

1.136 pTECITE




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11

